Graduate Aptitude Test in Engineering 2017

Question Paper Name: Computer Science and Information Technology 11th Feb 2017 Session 1
Subject Name: Computer Science and Information Technology

Duration: 180

Total Marks: 100

Organizing Institute:

Indian Institute of Technology Roorkee




Question Number : 1 Correct: 1 Wrong : -0.33

The statement (— p) = (—¢) is logically equivalent to which of the statements below?
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IV. (=plvg

(A) Tonly (B) I and IV only (C) II only (D) II and III only

Question Number : 2 Correct: 1 Wrong : -0.33

Consider the first-order logic sentence F:7x(3yvR(x.v)). Assuming non-empty logical
domains. which of the sentences below are implied by F?

L  Jr(3xR(x.v))
I I(VxR(x.»)
I Yy(3xR(x.1))

IV. —3x(Yy—=R(x.1))

(A) IV only (B) I and IV only (C) II only (D) II and IIT only



Question Number : 3 Correct: 1 Wrong : -0.33
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Let ¢,.....c, be scalars. not all zero. such that Z c;a;, =0 where a. are column vectors inR".
i=1

Consider the set of linear equations

Hou=sly

n
where 4=[q,.....a ] and b= Z ;. The set of equations has

i=1

(A) aunique solution at x =J where J denotes a 1 -dimensional vector of all 1

(B) mno solution
(C) infinitely many solutions

(D) fimitely many solutions

Question Number : 4 Correct: 1 Wrong : -0.33

Consider the following functions from positive integers to real numbers:
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The CORRECT arrangement of the above functions in increasing order of asymptotic complexity
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Question Number : 5 Correct: 1 Wrong : -0.33

Question Number : 6 Correct: 1 Wrong : -0.33

Question Number : 7 Correct: 1 Wrong : -0.33



